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match sticks longer than crayon.

atch sticks longer than roller pin.
match sticks shorter than string.
match sticks shorter than string.
h sticks longer than crayon.
h sticks shorter than roller pin.
h sticks longer than string.




Two Pineapples Weigh as muych
a8 _ 35 bananas.
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A jug weighs as much as _=
glasses.
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Look at the balance carefully and fill in the blankg

aok is lighter than,_[m#__

4 brinjals are /.
5 carrots Lighio than
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4 glasses are ./ /iy than
3 bottles :
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A bottle can hold three glasses of water. Coloyr
required to fill these bottles. H W~




A Ju
Abog@zlds 6 glasses of water
olds 4 glasses of water

So, the capaci
’ pacity of the b '
l&&& than the jug. "

A kettle holds 5 cups of tea.
Flask holds 6 cups of tea.
So, the capacity of flask is
than the kettle.

Two glasses can fill one bottle.
vo bottles can fill one jug.

L{ glassescan fill one

g can fill one kettle.
g can fill one flask.
cups can fill one

cup



